SOCIAL SWING SINGL

Instrukcja montazu
Montageanleitung

Assembly Manual

¢ o o

WKI M6x10 WKI M6x16 WKI M8x16

SIM M8x80

8x24 M8

- Klucz imbusowy 4
- Inbusschlissel 4
- allen key 4

- Klucz imbusowy 6
- InbusschlUssel 6
- allen key 6

- Sugerowana ilo$¢ montazystéw: 2 osoby
ww Vorgeschlagene Anzahl der Installateure: 2 Personen

Suggested number of installers: 2 people

|9ejot



SOCIAL SWING SINGLE Instrukcja montazu / Montageanleitung / Assembly Manual

Przytozy¢ konstrukcje dolng srodkowq do bocznej/
Tragen Sie die mittlere untere Konstruktion an der Seite auf/

Apply the middle bottom connstruction to the side.



SOCIAL SWING SINGLE Instrukcja montazu / Montageanleitung / Assembly Manual

Skreci¢ konstrukcje srubami SIM M8x80 + nakretki M8 samokontrujqce + podktadki 8x24/
Verschrauben Sie die Konstruktion mit M8x80 SIM-Schrauben + selbstsichernden M8-Muttern + 8x24-Scheiben/

Screw the construction with M8x80 SIM screws + self-locking M8 nuts + 8x24 washers.



SOCIAL SWING SINGLE Instrukcja montazu / Montageanleitung / Assembly Manual

Potozy¢ drewniang podtoge/
Legen Sie einen Holzfulsboden/

Put a wooden floor.



SOCIAL SWING SINGLE Instrukcja montazu / Montageanleitung / Assembly Manual

PRACA NAWYSOKOSCI
IN HOHEN ARBEITEN
WORK AT HEIGHTS

Dosunqc i skreci¢ konstrukcje srubami SIM M8x80 + nakretki M8 samokontrujqce + podktadki 8x24/
Schieben und schrauben Sie die Konstruktion mit M8x80 SIM-Schrauben + selbstsichernden M8-Muttern + 8x24-Unterlegscheiben/

Slide and screw the construction with M8x80 SIM screws + self-locking M8 nuts + 8x2 washers.




SOCIAL SWING SINGLE Instrukcja montazu / Montageanleitung / Assembly Manual

Przykreci¢ naktadke srubamiWKI M6x10 bez kleju/
Verschrauben Sie die Overlay mit WKI M6x10/
Screw the overlay with WKI Méx10 screws without glue.



SOCIAL SWING SINGLE Instrukcja montazu / Montageanleitung / Assembly Manual

Wkreci¢ zawiesia w gorne konstrukcje/
Schlingen in die oberen Konstruktionen einschrauben/

Screw the slings in the upper constructions.



SOCIAL SWING SINGLE Instrukcja montazu / Montageanleitung / Assembly Manual

Wiozy¢ prety w kubetki i przykreci¢ srubami WKI 8x16/
Setzen Sie die Stangen in die Eimer und schrauben Sie sie mit WKI 8x16 Schrauben/

Insert the rods into the buckets and screw with WKI 8x16 screws.



SOCIAL SWING SINGLE Instrukcja montazu / Montageanleitung / Assembly Manual

Wkreci¢ pas ograniczajgcy ruch kubetka do podtoza/
Schrauben Sie den Gurt fest, um die Bewegung der Schaufel auf dem Boden zu begrenzen/

Screw the belt to limit bucket movement to the ground.



SOCIAL SWING SINGLE Instrukcja montazu / Montageanleitung / Assembly Manual

S IIItITItILIIITItILILIILLILLIIILILILLLLSY

xxxxxxxxxxxxx

Wpiq¢ prety z kubetkiem w zawiesia, zabezpieczy¢ kdtkiem/
Befestigen Sie die Stangen mit dem Eimer an den Schlingen und sichern Sie sie mit einem Metallring/

Attach the rods with the bucket to the slings, secure with a metal ring.

10



SOCIAL SWING SINGLE Instrukcja montazu / Montageanleitung / Assembly Manual

T1stisians

Przykreci¢ drugq strone paska ograniczajgcego do spodu kubetka — WKI Méx16 (4 sztuki do kazdego kubetka)/
Schrauben Sie die zweite Seite des Begrenzungsbugels an die Unterseite des Eimers - WKI Méx16 (4 Stuck fur jeden Eimer)/
Screw the second side of the limiting strap to the bottom of the bucket - WKI M6x16 (4 pieces for each bucket).

1



SOCIAL SWING SINGLE Instrukcja montazu / Montageanleitung / Assembly Manual

Natozy¢ panel gérny na dach/
Legen Sie die oberen Platten auf das Dach/
Put the top panel on the roof.

12



SOCIAL SWING SINGLE Instrukcja montazu / Montageanleitung / Assembly Manual

Bejot sp. zo. o., ul. Wybickiego 2A, Manieczki, 63-112 Brodnica n.Poznan, POLAND
Tel.: +48 (61) 28122 25, fax: +48 (61) 28122 54, e-mail: biuro@bejot.eu
www.bejot.eu



